A £ 0l & AF & S

Al A

A nSHEL
M sus |84 &
SRl WS AL EE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
wSHF 7,083,212 6,567,586 485,626
Hsus s4 N 1,501,000 1,502,160 21,160
us HTAIL EE 1,501,000 1,502,160 1,160
Rhed G 28 1,501,000 1,502,160 1,160
401 AlZHIZ SO 1,501,000 1,502,160 1,160
01 A28l 1,500,000 1,500,000 0
OXtd & A4 (1L=350Km) 1,500,000,000& *14] 1,500,000
03 A& CHYI 1,000 2,160 AT1,160
OAIE= Yl 1,000,000 *14] 1,000
SESH A2 150,000 150,000 0
=38 28X 150,000 150,000 0
Hxsg 2det X 150,000 150,000 0
301 EetE2 NS 150,000 150,000 0
14 0Bt 2as 150,000 150,000 0
O3=zg =gd8d=
150,000,000 * 14! 150,000
Hess(nsa#g) 5,312,059 4,830,000 482,059
LIS HeHKIE 4,930,459 4,443,000 487,459
UWRAHHXE(DSAILSELEE ©ES) 4,930,459 4,443,000 487,459
701 JIEtI HSHES 4,930,459 4,443,000 487,459
01 JIEt=I AN ES 4,930,459 4,443,000 487,459
OuUSAMHSESH HES 4,930,459
D IHAMI(SAIXISEZ)
2,100,000,000& *14] 2,100,000
DuSA 2 2,830,459,000& x 14 2,830,459
282 381,600 387,000 Ab5,400
INEE PN R 381,600 387,000 Ab5,400
311 XS0l Aratat 21,600 27,000 25,400
01 Al 2 - RXSIHE I SISO AHat &t 21,600 27,000 25,400
OLSHDHE % XNHHSSAEA M=
21,600,000 * 14! 21,600
601 A= =4e 360,000 360,000
01T Al 2 - XS ISALSH=42 360,000 360,000
OLSHSBHE ¥ NHSSAEA M=
360,000,000 x 14 360,000
A2 (NSHID) 90,153 85,426 4,721
olEdd(nsSHEY) 90,153 85,426 4,721
HE2IH(nSHEL) 90,153 85,426 4,721
101 e124d| 90,153 85,426 4,727
01 2= 86,814 82,140 4,674
OAltRAZ 25
11,1302 x26 2 *x300A 2+ 86,814
02 JIEtME = 3,339 3,286 53
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SA - Z3F - SRA(3) - HRAEY

11, 1303 x 1 +300A1 2+




